
Parts List
Flygt Mixer 4650

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 1 of 36



Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 2 of 36



Parts List

Flygt Mixer 4650

Overview
This publication contains parts information for Mixer 4650, standard version (410) and
Explosion proof–version (490).

Please contact ITT Flygt documentation department and let us know if any information
in this publication is

• incorrect
• missing
• difficult to find or
• irrelevant.

Table of Contents This publication contains the following topics:

Topic

Preface ...................................................................................................................................................... 4
Practical Information ................................................................................................................................... 5

Data Plate Interpretation......................................................................................................................... 6
Product Identity...................................................................................................................................... 9
Order parts ............................................................................................................................................11

Motorparts..................................................................................................................................................12
Exploded view: Motor Parts ....................................................................................................................13
List of Motor Parts..................................................................................................................................15

Hydraulic Parts ...........................................................................................................................................20
List of Hydraulic Parts ............................................................................................................................21

Parts for Service.........................................................................................................................................22
List of Parts for Service ..........................................................................................................................23

Accessories................................................................................................................................................24
Exploded view: Installation Accessories for Mixer ....................................................................................25
Exploded view: Installation Accessories for Propeller Pump (PP) ..............................................................26
View of Jet Ring and Lifting Device .........................................................................................................27
View of Flange Mounted Mixer................................................................................................................28
View of Seal Protection, Cutting Rings and Seal Flushings .......................................................................29
View of Leakage Sensor (FLS) ...............................................................................................................30
List of Accessories .................................................................................................................................31

Parts List, Flygt Mixer 4650 3

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 3 of 36



Preface

Purpose The purpose of this manual is to give the reader information about available spare parts
and accessories for the product.

Recipient The manual is principally intended for ITT
• customers
• service personnel and
• sales personnel.

Contact Please contact ITT if any information in this publication is
• incorrect
• missing
• difficult to find or
• irrelevant.

Reference More information about the product is available in the following documents:
• Installation
• Service and Maintenance
• Accessories. Please see Mechanical Accessories at ITT intranet, GPI for list of
Stationary Discharge Connections.

4 Parts List, Flygt Mixer 4650

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 4 of 36



Practical Information

Overview

Table of
Contents

This chapter contains the following topics:

Topic
Data Plate Interpretation..................................................................................... 6

Data Plate..................................................................................................... 6
Approval Plate – FM approved version............................................................ 7
Approval Plate – EN approved version............................................................ 7

Product Identity.................................................................................................. 9
Order parts ........................................................................................................ 11

Parts List, Flygt Mixer 4650 5

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 5 of 36



Data Plate Interpretation

Introduction The ITT product is always provided with data plates:

• The general data plate is used on all products.

• The approval plate is added to all explosion proof products.

Data Plate

The product may only be operated within the parameters stated on the data plate.

Illustration This is an illustration of a general data plate.

1211 13

21

20

19161514

8

7

6

5

4

2 1

22

24

23

1817109

3

Field
description

This table shows the fields on the general data plate, and which information each field
contains.

Field Description Field Description

1 Curve code/Propeller code 13 Rated current

2 Serial number 14 Rated speed

3 Product number 15 Maximal submersion

4 Country of origin 16 Direction of rotation:
• L = Left
• R = Right

5 Additional information 17 Duty class

6 Phase; type of current,
frequency

18 Duty factor

7 Rated voltage 19 Product weight

8 Thermal protection 20 Locked rotor code letter

9 Thermal class 21 Power factor

10 Rated shaft power 22 Maximal ambient temperature

6 Parts List, Flygt Mixer 4650

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 6 of 36



Field Description Field Description

11 International standard 23 Read Installation Manual

12 Degree of protection 24 Notified body (only for
EN-approved Ex-products)

Approval Plate – FM approved version

Illustration This is an illustration of an approval plate for the FM approved product version.

2

1

F0
00

15
8

Field
description

This table shows the fields on the approval plate, and which information each field contains.

Field Description

1 Temperature class

2 Maximum ambient temperature

Approval Plate – EN approved version

Illustration This is an illustration of an approval plate for the EN approved product version.

Parts List, Flygt Mixer 4650 7

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 7 of 36



D

A

N

K

L

M

CB

F

E

G I JH

O

Field
description

This table shows the fields on the approval plate.

Field Description Field Description

A Approval I Input power

B Approval authority + Approval
Number

J Rated speed

C Approval for Class 1 K Controller

D Approved drive unit L Additional information

E Stall time M Max. ambient temperature

F Starting current / Rated current N Serial number

G Duty class O ATEX marking

H Duty factor — —

Approval The approval for the European version according to ATEX Directive 94/9/EC is shown on
the Approval Plate with one of the following information:

IM2 EEx de I

IM2 EEx dI

II2G EEx de IIB T3

II2G EEx d IIB T3

II2G EEx d IIB T4

Cable entry: The approval for the cable entry has the following certificate number:

INERIS 02ATEX 9008 U

II 2 G or IM2 EEx dIIC or EEx dI

8 Parts List, Flygt Mixer 4650

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 8 of 36



Product Identity

Sales
denomination

The product’s identity is built up of the Sales Code (four digit) and two letters indicating
hydraulic end and type of installation.

This is an example of a sales denomination.

1

NP 3085 

2 3

Table: This table explains what the letters and the numbers in the sales code stand for.

Code Position Gives information about the...

1 hydraulic part

2 installation mode

3 sales code

Product code In each range the product´s identity, Product Code, is made up of seven digits.

This is an example of a product code.

 3085. 183 

1 2

NP

Table: This table explains what the product code is made up of:

Code position Gives information about the ...

1 sales denomination

2 version

Parts List, Flygt Mixer 4650 9

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 9 of 36



Serial number The serial number is used for identification of an individual pump/mixer.

This is an example of a serial number.

1

NP 3085. 183 - 951 01 63

2 3 4

Table: This table explains what the serial number is made up of:

Product code position Gives information about the ...

1 product code

2 production year

3 production cycle

4 running number

10 Parts List, Flygt Mixer 4650

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 10 of 36



Order parts

Order When ordering spare parts, state serial number of the product, spare part number and
quantity.

Requirements Genuine ITT parts must always be used for repairs if the product is to fulfill requirements
and obtain official approval.

Qualification
of personnel

Only ITT or ITT-authorized service personnel may undertake repair work on Ex-approved
products.

Parts List, Flygt Mixer 4650 11

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 11 of 36



Motorparts

Overview

Table of
Contents

This chapter contains the following topics:

Topic
Exploded view: Motor Parts ................................................................................ 13
List of Motor Parts .............................................................................................. 15

12 Parts List, Flygt Mixer 4650

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 12 of 36



Exploded view: Motor Parts

122.5

Parts List, Flygt Mixer 4650 13

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 13 of 36



14 Parts List, Flygt Mixer 4650

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 14 of 36



List of Motor Parts

Qty/Ver-
sion

Pos. No Part. No Denomination

41
0

49
0

2 80 70 62 Parallel key 8H9X7H11X40 1 1

3 83 02 58 Hex.socket hd screw M5X12-A4-70 4 4

6 83 04 46 Hex.socket hd screw M10X40-A4-80 10 16

9 83 04 48 Hex.socket hd screw M8X20-A4-80
(GUIDING CL)

4

11 83 04 49 Hex.socket hd screw M12X30-A4-80 2 2

12 589 45 00 Nut unit 1 1

12.1 84 50 77 Hex.socket hd screw 1 1

16 82 44 19 Supporting washer S 55X68X3 2 2

18 82 50 13 Lock washer NL 5 SS 2 2

19 583 32 02 Seal ring FPM 10 10

19 583 32 03 Seal ring HNBR 6 10

22 596 37 04 Washer 1 1

23 627 27 00 Special washer 1 1

24 82 72 95 O-ring 19.2X3.0 FPM 2 2

24 82 73 90 O-ring 19.2X3.0 NBR Not for warm water version 2 2

25 82 74 40 O-ring 4,1X1,6 NBR 1 1

26 82 74 65 O-ring 59,5X3,0-NBR Not for warm water version 1 1

26 82 80 90 O-ring 59,5X3,0 FPM 1 1

28 82 74 18 O-ring 129,3X5,7 NBR 1 1

29 82 74 21 O-ring 144.3X5.7-NBR 1 1

29 82 75 16 O-ring 144.3X5.7 FPM 1 1

30 82 72 99 O-ring 184,3X5,7 FPM 1 1

30 82 74 90 O-ring 184.3X5.7 NBR Not for warm water version 1 1

31 82 74 96 O-ring 229,3X5,7 NBR Not for warm water version 1 1

31 82 81 82 O-ring 229,3X5,7 FPM 1 1

32 82 74 97 O-ring 239,5X5,7-NBR Not for warm water version 1 1

32 82 80 86 O-ring 239,3X5,7 FPM 1 1

33 82 78 48 O-ring 255,0X5,7 NBR Not for warm water version 2 2

33 82 95 55 O-ring 255,0X5,7 FPM 2 2

38 428 22 05 Inspection screw SS Oil 2 2

39 583 89 00 Inspection screw SS Insp 1 1

40 82 59 74 Retaining ring SGH 45 1 1

42 82 62 12 Retaining ring SGH 62 1 1

44 82 62 22 Retaining ring SGH 85 1 1

45 82 63 95 Retaining ring 45-SPRING STEEL 1 1

50 82 46 36 Roller bearing C3 30X62X16 1 1

Parts List, Flygt Mixer 4650 15

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 15 of 36



Qty/Ver-
sion

Pos. No Part. No Denomination

41
0

49
0

50 83 57 06 Roller bearing NU206ECJ/M C3
30X62X16

Warm water version 1 1

51 83 36 04 Ball bearing 7206 BE 30X62X16 1 1

51 83 41 53 Ball bearing 7206 BEM 30X62X16 Warm water version 1 1

52 83 36 06 Ball bearing 7209 BE 45X85X19 1 1

52 83 41 55 Ball bearing 7209 BEM 45X85X19 Warm water version 1 1

54 569 69 00 Cover 1 1

55 582 95 01 Disc spring 4 4

56 584 86 01 Sleeve 1 1

57 584 93 00 Supporting washer 1 1

58 582 98 01 Stator housing unit SS Standard version 1

58 582 98 11 Stator housing unit SS 1

59 578 50 02 Shaft unit 1 1

60 569 58 01 Stator 25-15-12a 3-phase, 60 Hz, 400V Y 1 1

60 569 58 24 Stator 25-15-12a 3-phase, 50 Hz, 200-220V Y 3-phase,
60 Hz, 200-240V Y

1 1

60 569 58 25 Stator 25-15-12a 3-phase, 50 Hz, 180-190V Y 3-phase,
60 Hz, 200-220V Y

1 1

60 569 58 26 Stator 25-15-12a 3-phase, 50 Hz, 220-230V Y 3-phase,
60 Hz, 260V Y

1 1

60 569 58 29 Stator 25-15-12a 3-phase, 50 Hz, 346V Y 3-phase, 60
Hz, 380V Y

1 1

60 569 58 31 Stator 25-15-12a 3-phase, 50 Hz, 400V Y 3-phase, 60
Hz, 460- 480V Y

1 1

60 569 58 34 Stator 25-15-12a 3-phase, 50 Hz, 380V Y 3-phase, 60
Hz, 440- 460V Y

1 1

60 569 58 39 Stator 25-15-12a 3-phase, 50 Hz, 690V Y 1 1

60 569 58 43 Stator 25-15-12a 3-phase, 50 Hz, 400-440V Y 1 1

60 569 58 51 Stator 25-15-12a 3-phase, 50 Hz, 500V Y 3-phase, 60
Hz, 575- 600V Y

1 1

60 666 15 02 Stator 25-15-12a 3-phase, 60Hz, 690VY 1

60 666 15 24 Stator 25-15-12a 3-phase, 60 Hz, 230V Y 1

60 666 15 31 Stator 25-15-12a 3-phase, 50 Hz, 400V Y 3-phase, 60
Hz, 460- 480V Y

1 1

60 666 15 34 Stator 25-15-12a 3-phase, 60 Hz, 440- 460V Y 1 1

62 569 91 00 Sleeve 1

62 585 23 00 Sleeve Ex-version 1

63 569 90 02 Bearing housing Standard version 1

63 569 90 03 Bearing housing Standard version intended for CLS 1

63 569 90 11 Bearing housing Ex-version 1

64 569 65 00 Oil housing 1 1

16 Parts List, Flygt Mixer 4650

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 16 of 36



Qty/Ver-
sion

Pos. No Part. No Denomination

41
0

49
0

80 619 64 00 Mechanical seal I=WCCR/WCCR
O=WCCR/WCCR

1 1

80 619 64 01 Mechanical seal I=WCCR/WCCR
O=RSIC/RSIC

1 1

84 646 96 00 Seal holder ASTM 304 1 1

84 646 96 01 Seal holder ASTM 316 L 1 1

86 81 93 89 Slotted head screw SS M6X12-A4-70 4 4

100 83 42 83 Cable lug 0.5-1.5 MM2;M5 5 5

100 83 43 04 Cable lug 1.0-2.5 MM2;M5 7 7

100 83 43 24 Cable lug 2,5-6MM2;M5 7 7

100 83 44 24 Closed end splice 3,0-6,0(AWG 12-10) 1 1

105 569 68 00 Con.term.board unit 1 1

106 94 05 88 Insulating hose DIAM.16 * *

107 94 13 64 Insulating hose DIAM.25; CLASS
H180/4KV

* *

108 580 28 00 Plate spring 2 2

109 83 93 95 Protective cap 8 8

111 84 18 01 Seal sleeve (17)-20 MM 2 2

111 84 18 02 Seal sleeve (20)-23 MM 2 2

111 84 18 03 Seal sleeve (23)-26 MM 2 2

111 84 19 40 Seal sleeve (14)-17 FPM 2 2

112 597 98 02 Ring 1 1

113 83 45 40 Cable holder FOR CABLE 10-16 MM (10)- 16 mm (0.40"- 0.63") 1

113 83 45 41 Cable holder FOR CABLE 17-25 MM (17)- 23 mm (0.67"- 0.91") 1 1

114 82 42 71 Plain washer (30)-32 MM 4 4

114 82 42 72 Plain washer (32)-34 MM 4 4

121 597 87 01 Entrance flange SS Intended for metal hose, threaded
ISO- G1 1/4"

1 1

121 597 87 06 Entrance flange SS Threaded 1 1/4- 11,5 NPT Inner 1 1

121 597 87 08 Entrance flange 2-11.5 NPT 1 1

121 642 17 03 Entrance flange Stainless steel ASTM 316L 1 1

122 618 81 03 Entrance flange EN, FM approved 90°C (T3) 1

122.2 82 35 77 Plain washer A4-A140 10

122.3 83 03 50 Hex.socket hd screw 2

122.4 618 80 03 Entrance flange 1

122.5 728 40 01 Plate 1

122.5 728 40 03 Plate 1

124 638 34 01 Fixing plate compl. SS ASTM 316L. (100x100) 1

124 638 34 03 Fixing plate compl. ASTM304(100x100) 1

124 638 34 05 Fixing plate compl. ASTM 304 (100x150) 1

Parts List, Flygt Mixer 4650 17

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 17 of 36



Qty/Ver-
sion

Pos. No Part. No Denomination

41
0

49
0

124 638 34 07 Fixing plate compl. ASTM 316L(100x150) 1

124 638 34 11 Fixing plate compl. ASTM 316L(100x100) 1

124 638 34 13 Fixing plate compl. ASTM 304(100x100) 1

124 638 34 14 Fixing plate compl. ASTM 304(100x150) 1

124 638 34 15 Fixing plate compl. ASTM 316L(100x150) 1

125 610 65 01 Fixing plate compl. SS 1 1

127 618 30 00 Gasket 1 1

128 550 21 00 Connection plate (FLS+CLS) 1

128 550 22 00 Connection plate (FLS) 1 1

128 550 23 00 Connection plate (CLS) 1

128 550 24 00 Connection plate 1 1

128 630 68 00 Data plate USE 6306801 AS SPARE
PART

2 2

128 630 69 00 Certificate plate EX 2

128 630 70 00 Certificate plate FM APPROVED 2

128 630 76 00 Plate HOT WATER PRODUCT 1 1

128 657 79 00 Connection plate 1 1

128 698 77 02 Connection plate 1 1

129 482 01 01 Cable supp.grip unit 12- 24 mm 1 1

130 94 17 81 Motor cable SUBCAB, Screened
S3x2,5+3x2,5/3+4x1,5, max 70°C
(158°F) 18,7- 20 mm

* *

130 94 20 56 Motor cable SUBC 4G6+2X1.5MM2
23-25

max 70°C (158°F) 23- 25 mm * *

130 94 20 59 Motor cable SUBC 4G2,5+2X1,5 MM2 max 70°C (158°F) 17- 18 mm * *

130 94 20 60 Motor cable SUBC 4G4+2X1.5MM2
20-22

max 70°C (158°F) 20- 23 mm * *

130 94 20 94 Motor cable HCR 7X6 MM2 max 90°C (194°F) 16,2- 17,2 mm * *

130 94 21 02 Motor cable Subcab 14AWG/7 2.08mm²
(18-20mm).

* *

130 94 21 04 Motor cable Subcab 12AWG/7 3.31mm²
(20-22mm).

* *

130 94 21 06 Motor cable Subcab 10AWG/3-2-1-GC 5.26mm²
(20,30-22,30mm).

* *

131 83 45 59 Cable tie 200X2,4 PA 6/6 -55+105 1 1

135 631 62 00 Plate PE-HD 1

135 631 62 01 Plate PVDF 1

136 582 32 01 Square nut SS 1

137 642 94 00 Angle bracket 1

138 610 69 01 Plate 1

139 618 45 01 Plate 1

18 Parts List, Flygt Mixer 4650

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 18 of 36



Qty/Ver-
sion

Pos. No Part. No Denomination

41
0

49
0

142 580 74 00 Handle Not for PP 2 2

143 80 66 06 Cotter pin Not for PP 2 2

144 569 71 00 Sleeve Not for PP 2 2

145 83 04 62 Hex.socket hd screw M10X30-A4 80 Not for PP 4 4

146 82 50 16 Lock washer NORD-LOCK M10-2343 8 8

147 630 83 00 Sleeve SS Not for PP 4 4

228 93 00 77 Shrink hose ID 6,4 * *

400 667 40 01 Sticker 2 2

912 82 72 95 O-ring 19.2X3.0 FPM Extra O-rings for inspektionscrew 2 2

912 82 73 90 O-ring 19.2X3.0 NBR Extra O-rings for inspektionscrew 2 2

Parts List, Flygt Mixer 4650 19

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 19 of 36



Hydraulic Parts

Overview

Table of
Contents

This chapter contains the following topics:

Topic
List of Hydraulic Parts......................................................................................... 21

20 Parts List, Flygt Mixer 4650

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 20 of 36



List of Hydraulic Parts

Qty/Ver-
sion

Pos. No Part. No Denomination

41
0

49
0

8 84 51 56 Hex.socket hd screw M12X70-12.9 1 1

41 82 61 97 Retaining ring SGH 35 1 1

90 582 28 05 Propeller compl. ANGLE 5 (L102) Alloyed white iron 1 1

90 582 28 07 Propeller compl. ANGLE 7 (L102) Alloyed white iron 1 1

90 582 28 09 Propeller compl. ANGLE 9 (L102) Alloyed white iron 1 1

90 582 28 11 Propeller compl. ANGLE 11 (102) Alloyed white iron 1 1

90 582 28 13 Propeller compl. ANGLE 13 (102) Alloyed white iron 1 1

90 652 49 23 Propeller compl. Angle 3°, Stainless steel, 2-blades 1 1

90 652 49 25 Propeller compl. Angle 5°, Stainless steel, 2-blades 1 1

90 652 49 29 Propeller compl. Angle 9°, Stainless steel, 2-blades 1 1

90 658 86 23 Propeller compl. Angle 3°, Stainless steel 1 1

90 658 86 25 Propeller compl. Angle 5°, Stainless steel 1 1

90 658 86 27 Propeller compl. Angle 7°, Stainless steel 1 1

90 658 86 29 Propeller compl. Angle 9°, Stainless steel 1 1

90 658 86 31 Propeller compl. Angle 11°, Stainless steel 1 1

93 569 38 02 Plain washer 2 2

94 569 70 00 Plug 1 1

Parts List, Flygt Mixer 4650 21

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 21 of 36



Parts for Service

Overview

Table of
Contents

This chapter contains the following topics:

Topic
List of Parts for Service....................................................................................... 23

22 Parts List, Flygt Mixer 4650

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 22 of 36



List of Parts for Service

Qty/Ver-
sion

Pos. No Part. No Denomination

41
0

49
0

800 80 32 91 O-ring kits MTRL.NBR 1 1

800 80 32 92 O-ring kits MTRL.FPM 1 1

801 466 26 20 Zinc anode set Anod for PP 1 1

801 466 26 23 Zinc anode set Anod with 4-div. extended jetring 1 1

801 466 26 24 Zinc anode set Anod with extended jetring 1 1

801 466 26 36 Zinc anode set ANODWITH JETRING 1 1

801 466 26 39 Zinc anode set ANOD WITHOUT
JETRING

1 1

810 640 25 02 Rebuilding kit Bearings, bearing housing, shaft unit. 1

810 656 35 02 Rebuilding kit GP-STAINL.
STEEL.PLUG IN.

Roller bearing, bearings, seal unit
WCCR/WCCR, O-ring kit NBR

1 1

810 656 35 03 Rebuilding kit HG-STAINL.
STEEL.PLUG IN.

Roller bearing, bearings, seal unit
WCCR/WCCR, O-ring kit FPM

1 1

810 656 35 07 Rebuilding kit HG-STAINL.
STEEL.PLUG IN.

Roller bearing, bearings, seal unit
WCCR/RSiC, O-ring kit FPM

1 1

900 634 01 03 Basic repair kit Intended for ASTM 304 1 1

900 634 01 04 Basic repair kit Intended for SS ASTM 316L 1 1

900 634 01 05 Basic repair kit Intended for Proacid 1 1

900 665 68 03 Basic repair kit NBR WCCR/WCCR
WCCR

WCCR/WCCR WCCR/WCCR. O-ring
kit NBR

1 1

900 665 68 04 Basic repair kit FPM WCCR/WCCR
WCCR

WCCR/WCCR WCCR/WCCR. O-ring
kit FPM

1 1

900 665 68 05 Basic repair kit FPM WCCR/WCCR
RSIC

WCCR/WCCR RSiC/RSiC. O-ring kit
FPM

1 1

900 719 85 00 Plate unit kit 1 1

900 731 93 01 Repair kit 1 1

900 731 93 03 Repair kit 1 1

901 90 17 52 Oil MARCOL 152 2.1L * *

902 90 20 58 Bearing grease HINK 16KG * *

Parts List, Flygt Mixer 4650 23

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 23 of 36



Accessories

Overview

Table of
Contents

This chapter contains the following topics:

Topic
Exploded view: Installation Accessories for Mixer................................................. 25
Exploded view: Installation Accessories for Propeller Pump (PP) .......................... 26
View of Jet Ring and Lifting Device...................................................................... 27
View of Flange Mounted Mixer ............................................................................ 28
View of Seal Protection, Cutting Rings and Seal Flushings ................................... 29
View of Leakage Sensor (FLS)............................................................................ 30
List of Accessories ............................................................................................. 31

24 Parts List, Flygt Mixer 4650

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 24 of 36



Exploded view: Installation Accessories for Mixer

Parts List, Flygt Mixer 4650 25

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 25 of 36



Exploded view: Installation Accessories for Propeller Pump (PP)

6

203
204

224
146
204

203
204

6

220

208

    6
146

211

206

6

146

204

26 Parts List, Flygt Mixer 4650

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 26 of 36



View of Jet Ring and Lifting Device

215
210 210

40904

Parts List, Flygt Mixer 4650 27

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 27 of 36



View of Flange Mounted Mixer

40909

126

175

V iew of Flange Mounted Mixer

Extended oilchange
Seal Flushing
Cooling Jacket

187

125

180

180

186182

125

184

177

182
172

189
182

189188

180

180

173

174

185

182

28 Parts List, Flygt Mixer 4650

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 28 of 36



View of Seal Protection, Cutting Rings and Seal Flushings

161

168

163

162

166

167
160

165

163

166

164

161

170

171

406
20

Parts List, Flygt Mixer 4650 29

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 29 of 36



View of Leakage Sensor (FLS)

MINI
C
A
S 150

151

4
0

3
8

7

152 153
154

155

30 Parts List, Flygt Mixer 4650

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 30 of 36



List of Accessories

Qty/Ver-
sion

Pos. No Part. No Denomination

41
0

49
0

126 82 71 24 Plug SS 3224;DN10;(3/8"CONIC.) 5 5

152 603 60 00 Cable unit 1

153 505 12 00 Leakage detect.unit (CLS30) 1

154 518 89 02 Leakage detect.unit (FLS) 1 1

155 624 10 00 Bracket 1 1

156 94 05 88 Insulating hose DIAM.16 *

161 83 02 73 Hex.socket hd screw M6X12-A4-70 4 4

162 84 22 80 Blind rivet DIA.4,8 8 8

163 82 74 82 O-ring 144.5X3.0 NBR Not for warm water version 1 1

163 82 80 92 O-ring 144,5X3,0 FPM 1 1

164 84 25 19 Seal ring FPM 1 1

164 84 25 82 Seal ring NBR Not for warm water version 1 1

165 570 00 01 Cover SS 1 1

166 570 01 01 Pipe SS 1 1

167 597 86 00 Cutting ring ROTATING 1 1

168 597 85 00 Cutting ring STATIONARY 1 1

170 82 35 73 Plain washer A4-A 140 4 4

171 628 42 00 Protective ring 1 1

180 83 18 12 Coupling DN 12;3/8"-2343 2 2

182 83 17 86 Angle coupling DN 12;3/8"-2343 2 2

187 619 44 00 Pipe 1 1

188 619 45 00 Pipe OIL OUT 1 1

189 619 15 00 Inspection screw 2 2

190 633 33 00 Instruction label 2 2

200 83 09 36 Plug D53XH27 2 2

200 83 09 38 Plug 2 2

203 82 35 76 Plain washer A4-A 140 8 8

204 82 27 28 Lock nut M10-A4-70 8 8

205 596 74 01 Lifting handle unit SS 1 1

205.1 82 27 28 Lock nut M10-A4-70 2 2

205.2 82 35 76 Plain washer A4-A 140 2 2

205.3 83 04 46 Hex.socket hd screw M10X40-A4-80 2 2

206 695 16 01 Handle unit Stainless steel 1 1

206.1 82 27 28 Lock nut M10-A4-70 2 2

206.2 82 35 76 Plain washer A4-A 140 2 2

206.3 83 04 46 Hex.socket hd screw M10X40-A4-80 2 2

207 613 34 01 Protect.disc compl. SS 1 1

Parts List, Flygt Mixer 4650 31

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 31 of 36



Qty/Ver-
sion

Pos. No Part. No Denomination

41
0

49
0

207.1 82 27 28 Lock nut M10-A4-70 4 4

207.2 82 35 76 Plain washer A4-A 140 4 4

207.3 83 04 46 Hex.socket hd screw M10X40-A4-80 4 4

208 690 80 01 Protect.disc compl. Stainless steel 1 1

210 620 95 01 Jet ring compl. ASTM 316L. Divided 1 1

210 690 06 01 Jet ring unit ASTM 316 L 1 1

210 690 06 03 Jet ring unit ASTM 304 1 1

210 690 70 01 Jet ring compl. ASTM 316L 1 1

210 690 70 03 Jet ring compl. ASTM 304 1 1

210.1 81 49 09 Hexagon head screw M12X45-A4-70 4 4

210.2 81 55 58 Hexagon head screw 4 4

210.3 82 27 29 Lock nut M12-A4-70 24 24

210.4 82 50 14 Lock washer 32 32

211 82 33 45 Shackle 1 1

215 596 03 01 Support SS 1 1

220 703 26 01 Lifting handle compl 1 1

224 703 30 01 Inlet cone compl. ASTM 316L 1 1

224 703 30 03 Inlet cone compl. ASTM 304 1 1

225 708 86 01 Flange 1 1

225 719 04 01 Flange 1 1

227 613 68 04 Guide bracket unit STAINLESS 1 1

32 Parts List, Flygt Mixer 4650

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 32 of 36



Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 33 of 36



Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 34 of 36



Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 35 of 36



What can ITT Water & Wastewater do for you?

Integrated solutions for fluid handling are offered by ITT Water & Wastewater as a world leader in trans-
port and treatment of wastewater. We provide a complete range of water, wastewater and drainage
pumps, equipment for monitoring and control, units for primary and secondary biological treatment,
products for filtration and disinfection, and related services. ITT Water & Wastewater, headquartered in
Sweden, operates in some 140 countries across the world, with own plants in Europe, China and North
and South America. The company is wholly owned by the ITT Corporation of White Plains, New York,
supplier of advanced technology products and services.

Visit our Web site for the latest version of this document and more information
www.ittwww.com

ITT Water & Wastewater AB
SE-174 87 Sundbyberg
Sweden

Visiting address:
Gesällvägen 33
Sundbyberg
Sweden

Tel. +46–8–475 60 00
Fax +46–8–475 69 00

© ITT Water & Wastewater AB. The original instruction is in English.
All non-English instructions are translations of the original instruction.

896627_6.0_en.US_2009–05.GPL.4650

Vendor Manual - Submersible Mixer Flygt Model 4650 Parts List

Q-Pulse Id: TMS842 Active: 22/09/2014 Page 36 of 36




